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BiE-E-RE CHERRUHMAEERALEEZED)
T 4 FTEEM H % oK HU5E R ER 5 & Y H 3l 8 » H 3l
B kg kg kg |HEBE EHR =iE R ES e} EiE il 2B
1101 X8 &H 30 300 0 300
MMITBEAS EH 19 190 0 180
1121 43 (&H 4 40 0 40
1131483 =3I 3 30 0 30 10.00 0 0 0 2,916 0 2,376
(EH 7 46 0 46
1141 &R BE 3 15 0 15 5.00 0 3,240 0 1,728
BE 2 20 0 20 10. 00 0 0 1,620 0
9] 5 35 0 35
1201 B3¢ /31 100 1,200 0 1,200 12. 00 0 2,052 1,858
T 100 1,500 0 1, 500 15.00 0 2, 808 2,582
(EhH 374 5,310 0 5,310
1203 ¥ v Ry ZH 180 1, 800 0 1, 800 10. 00 2, 862 1,836
Z50 250 3,750 0 3, 750 15.00 1,728 1,102
9] 750 8, 750 0 8, 750
1204 GAR—JL BE 25 250 0 250 10. 00 0 0 0 0 1,274 0
G 25 250 0 250
120515 hhAHE | EE 1,430 572 572 0 0.40 194 0 76 0
126 240 48 0 48 0.20 0 0 0 108
(&H 1,670 620 572 48
1201 5 =& 900 90 90 0.10 43 41
RE 56 56 56 1.00 178 86
(D 956 146 146
1200 85%& Bl 10 30 0 30 3.00 0 0 0 1,512 0 1, 404
&h 15 45 0 45
1223 &% ’E 54 16 16 0.30 0 97 0 0 0 0
) 54 16 16
1301 #6F rg= 20 40 0 40 2.00 0 1,026 0 918
= 1,360 408 0 408 0.30 0 0 113 0
£ 48 240 0 240 5.00 0 1,728 0
EhH 1,428 688 0 688
1311 k= b+ BEX 69 276 0 276 4.00 0 0 0 0 1,944 0
&H 69 276 0 276
1321 AR = 26 130 0 130 5.00 2,268 0 1,998
=¥l 46 230 0 230 5.00 2,376 0 2,160
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EfE-iE-2E CEERRUHTHERBULEZSD)
s & EEE I NG HY5E FERERE] # U E 3l # xt H 3
JEE kg kg kg |E#EER B#H e il Eqe) Bl il Eql
(H 72 360 0 360
1331 B » Za—P—3 UK 50 500 0 500 10. 00 0 0 0 0 1,944 0
&) 50 500 0 500
1351 E—<> | &4 600 90 0 90 0.15 0 0 0 0 119 0
&) 1,200 168 0 168
13533 b =4 60 6 0 6 0.10 0 0 0 270 0 108
&) 60 6 0 6
15>y |ERE 10 20 0 20 2.00 0 0 0 0 3,564 0
&) 10 20 0 20
1403 HB= GH 10 10 0 10
400 ES GH 9 36 0 36
1501 H&& @me 30 150 0 150 5. 00 0 0 0 1,512 0 1,080
(5 30 150 0 150
1513 A4A—-942 |ERE 10 100 0 100 10. 00 0 0 0 0 3, 888 0
G) 10 100 0 100
1541 £2 EE 165 1,650 0 1,650 | 10.00 0 0 0 1,620 0 864
EH 167 1,690 0 1,690
1608 Jow ) | F 30 180 0 180 6.00 0 0 0 3,672 0 2,592
(& 30 180 0 180
1611 LA R P 10 50 0 50 5. 00 0 0 0 0 2,160 0
(&) 31 260 0 260
16124 =L 4 &H 18 90 0 90
1627 2= k= b | B 60 12 0 12 0.20 0 0 0 0 151
ek 15 45 0 45 3.00 0 0 0 0 1,944
& 213 107 0 107
1705 T 42 B4 90 7 0 7 0.08 0 0 0 0 54
= 3 12 0 12 4.00 0 0 0 0 3, 456
&) 93 19 0 19
1803 443 &H 790 79 0 79
1807 8% £5 150 15 0 15 0.10 0 0 0 0 45
= 900 180 0 180 0.20 0 0 0 0 73
(5 1,050 195 0 195
1809 L& L B 450 45 0 45 0.10 0 0 0 0 40 0
&H 450 45 0 45
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SIE-FE-ZE CHEBRUHAHEHRBELNEZST)

T 4 FEEH E S B # #UY5E FAXELS| + Y H 5] A x H 5|

(EE kg kg kg |[H#EER K& = 1B FE ZIE =l & ZfE
* SM4ERT * 17,314 34, 491 1,468 33,023
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EiE-HE-ZE CEESRUMAEERMBESEZST)
m B FEEM izl s £ U5k x5! € U R 5l H x H 5

LEES kg kg kg |E#EE B = 1E F1E 1B =i H{E R{E

2111 25/ — L | f0iL 103 1,030 0 1,000 | 10.00 0 0 0 4320 0 2,376
G 103 1,030 0 1,030

2137EROR | Fgkil 1 110 0 110 | 10.00 0 0 0 0 3,04 0
) 1 110 0 110

2139 7Ry | al 67 335 0 35| 500 0 0 0 1,08 0 3,024
@D 67 335 0 335

20TIATIL |BR i 10 0 10| 10.00 0 0 0 0 4,968 0
ED 1 10 0 10

i EE w5 10 100 0 100 | 10.00 0 0 0 0 4,860 0
@ 10 100 0 100

2731 E A 210 150 0 150 | 15.00 0 0 0 7,560 0 2,320
& 210 150 0 150

2811 % S 80 2 0 24| 0.30 0 0 0 0 475 0

i 200 54 0 5| 0.2 0 0 0 540 0 508

A 929 232 0 ®2| 0% 0 0 0 346 0 173

B 180 54 0 54| 0.30 0 0 0 0 508 0
(Eh 1,389 364 0 364
* S EEH 3,582 10, 199 0 10, 199




